UPPER MESSENGER WIRE
U-SHAPED HANGER

ALLOY HANGER SADDLE
MUST HAVE STAINLESS

STEEL INSERT FOR 5/8" BOLT. 5/8" STEEL

SIGN WIRE CLAMP

5" x 4" x 0.100"
ALUMINUM OR
0.06" GALV. STEEL

3/8" (10 mm) R
¢

™~ |

2
| - |
| |
3/8" *
DIA. 2"
HOLE *
o

BOLT AND COTTER PIN

1-1/4" x 3/8" x 6"
GALV. STEEL HANGER BRACE

11/16" DIA. HOLE I

S

5/16" STEEL
HEX. BOLTS
HEX. NUTS AND
LOCKWASHERS

e p—
| == p—p—pe—ye— —y—

{
)0:@000((/[0 Qo0

\

§

5/16" STEEL
HEX. BOLTS, HEX NUTS
WIDE AND LOCKWASHERS

BEARING PLATE
SEE DETAIL

5/16" STEEL U-BOLTS OR
J-BOLT AND LOWER
MESSENGER WIRE IF
REQUIRED

NO.2 U-CHANNEL—/

DRIVE POST

SINGLE SIGN HANGER ASSEMBLY

TYPE 1

DEBUR ALL EDGES (TYP.)

BEARING PLATE

SIGN HANGER
ASSEMBLY
SPAN WIRE

CITY OF COLUMBUS, OHIO
DEPARTMENT OF PUBLIC SERVICE STD DWG
DIVISION OF DESIGN AND CONSTRUCTION | 4, 50
Mocae D Z&,L::;\) 5/01/2014
CITY ENGINEER SHT 10F 2




ﬁ

a d (in)
0° 0
15° | 2.4
30° 47
45° 6.9
60° 9
o\Qg/ 97- 1/2° MAX.
82-1/2° MIN.
SPAN WIRE CLAMP (" UAX
(] D DRILL OR PUNCH FOR

1-1/4" x 1/4" GALV. STEEL
BAR STOCK (BEND AND

TWIST BAR TO PROPER —\

CONFIGURATION)

NO.2 U-CHANNEL —\|

.

4"t

DRIVE POST

BEARING PLATE

SEE DETAIL

5" x 4" x 0.100"
ALUMINUM OR
0.06" GALV. STEEL

3/8" (10 mm) R
¢

o N 5/16" BOLTS, WASHERS
AND NUTS (2 PER BAR)

4

BOLT, 3 LOCATIONS MIN.

N

06"

\
10"

;ol : o%
l¥BEARlNG PLATE
| ——

SEE DETAIL

—= 10"

2 SIGN HANGERS
REQUIRED PER SIGN
AS SHOWN

TYPE 2

3/8"
DIA.
HOLE

anY
G

ASSEMBLY
SPAN WIRE

SIGN HANGER

CITY OF COLUMBUS, OHIO
DEPARTMENT OF PUBLIC SERVICE

DEBUR ALL EDGES (TYP.)

BEARING PLATE

DIVISION OF DESIGN AND CONSTRUCTION

Moo Zeha

STD DWG
4250

5/01/2014

CITY ENGINEER

SHT 2 OF 2




	4250-4250-1 Sign Hanger Assembly Span Wire
	4250-4250-2 Sign Hanger Assembly Span Wire

